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1. (a+b)3 = a3 +3a%b+3ab% +b3

2. (a—b)3 = a3—3a%b+3ab2-b3

3. a3+b3 = (a+b)a?-ab+b?)

4. a3-p3 = (a-b)@aZ+ab+b?)
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1. am.an — am+n
m
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2. Sy = a

4. (ab)™ = a"p"

n 4
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( Exponential Function]

N 5on £ = {(x,y)e RxRT/y =aX;a>0 wag a= 1}
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( audGiue log )

1. log,1 =0 6. logyna = I—lllogba

2. log,a =1 7. al°%am =

3. log,(mn) = log,m+log,n 8. alo%™ - plogpa

4. log,[2) =1 1 9. 1 T Y 0 uazm#1
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5. logya™ = mlogya 10. logya
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Which of the following has the same value as
1 1 1 1

log,(100) * Tog(100)  Tog,(100h) * """+ Tog 0o (1001)

1
A 100 b. 1
1
T d. 100
1. 1,1 1
e SHzt gt + 700

a 9 1 dy
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f. (log2558)l082338 - 25581082558 95582558

U. (log2558)1082538 < (10g2558)228 < 25582558
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3. 10 A UNUEAMABUVBITNMT (4X+25-6)3 = (2X—4)3 +(@X-2)3

k4
pauInVeNaTnarivalwsa A e (PAT 1 W.8.57)

4. T A uMUEAMADUVOITUMS logs(3- 45 +2-9%) = x+logy5
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2log,(x—2y)+logix+log1y = 0
2 2

2 1 (% 1 c&y
1dn (%) +1 whiudelane il (PAT1 w.e.57)
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6. mMuuald A UNUFARADUVDIANAT

2x2 +2x) _ 2 1
log;(3 +9) = x +X+log3

wazld B = {x21xe A}

9
HAUINVIANFNNINA J e B minumila (PAT 1 1.9, 57)
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7. HALINVBIRIMDUTNHUAUDIAUNS
X(10g2x+1) — 64
Y
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8. 511!’31!%?\1 X ﬁﬁﬂﬂﬂé}'ﬂ\‘lﬁuﬂﬁ
log,x = logg3+1log;9

naumnuminla (3 58)

9. mludelansldidudinevvesauns
2% . 2X+1 . oX+2 _ gxgx+l gx+2 Qaaiey 57)

2. logz% 3. logz%1 4. logz% 5. logz%

10. 01 x = log(12+4-5%—3-2%) udmved x oglurilaneliil

1. [-12,-6) 2. [-6,0) 3. [0, 6) 4. [6,12)
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11. Let a and b be the two positive solutions to the following equation.

log;, 3 +10g,;3x = —% what is the value of a + b
4 10 4 10
L > 2. 55 3.4 4 9

[ Y 33| o A a 1
12. fwmuald a, b, ¢ Wuswiuesanunni 1
1 1 1
1+log 5. (5) 1+log > B 1410g , (2)
asba b2c'b £.2, ¢
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Y < [ a A Y @
13. 91 x Hag y WUTIUINITIVINNTOANADIN VTN

56-2% = (1% iife A = 2
0gx

wdaved x +y wnumla (PAT 1 3.9. 56)

14. 81°S = {xIx Wudhwrudunaeandesiueanms logx(x—15)<2

udr Suaundnves s mnudelase It Ganaiail 56)
1. 10 2. 12 3. 14 4. 24 5. 26
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